r— =LA O
k=1 Jof froy Fa =1 ]
1. 32ty + (=32%y3) x 22%y* & 74E35] ofH? 6. 422392 =+ 12298 = 6 2 71t}s] sbHY
Y
1
O —22%y? @ —— ® 221y 1
2y @ 37 @ 322 ® Tay
@ —18z4y'? ® 9xy? 2
@ ?33 ® z2y?
2. o[ Jorol ke 4L >
x 3
7. day = (22y) x (%) < A4tota?
2\ 2
=222y x (—y—) = —213y3
Y 2z Y 16 8 ® 221?
3y? 32 Yy
2 2,2
® —8z12 @ 8s1? ® —1048 @ zy © %y
@ 1627 ® —1627
8. —3a2bx (—4ab)=|  |=2a2L [ ]¢tq]
dur2 Alg 1 2/?
3. 18ab? = 3a2b + 4a®b3 x 2a°b3 & 7hH3] Sloj=t
® —6a? @ —6ab ® 6a
@ 6a*b ® 6ab?
4. T ool 9o A& 4 Hoial,
2 a2 \* 24\ 2 o
(—22%y)3 x I:]: —4xTy8 9. (2ab?)” x (@> X (G—S) S 7Vhs] sHH?
1
@ Loy @ Li2.0
2™V T4
10. (doy?)?+]__Jx (=32%y%) = 6ay? O [ bl &
ke 2l.o ;_3]_@‘7
5. (22%)? ~ 22ty x 2%y* = Ba®y® Q@ W, A+ B-C e
o] 7}y 9 2
g2 O 52° — ® 323y
xy
2 7
@0 @1 ®2 @®@3 ©4 @ ”CTy 5
x




11. o5 O o4 =& A== dgds A2
1\?2 2\?
O _
@ () () =0
D 4,1,4 @ 4,2,4 ® 4,3,3
@ 4,3,2 ® 4,4,2
12. o5 5 A4t A3 22 AE Zrolet
2 90, zy
@) S0
Loa. /32
© 2722y% = 322y
@ (=3zy)® + (—3%2y?)
@ (—32%y)? + 32%y
® (2209%)? + (zy)?
3
13,300 <[] = =L o[ Jad 5oz
Sold Aog Z2 A7
@ +a?v? @ +2a°b® ® +£3a?b?
@ +3a3b3 ® +4a3p*

14. & :1%1—8— ‘?;‘90—1 A ) © E:
PR RIS .
4. 09 gsame /S J, |
A gAY |
wol golrt 4o 0w, LV |
€T~ 1
ol7} 5y olth. @ 1A,
©9) B}l 21, © 27
o weiel ZAZE o) & Wl dolrt 20 el O
g0l Qupelx] Fstoler,
15. Hiztof| o4 =24E A2 ydet A2
(1)D « (@)D;y _ 2
- 3/ T2 )
@ 4,1,9 @ 4,2,9 ® 4,3,9
@ 2,2,8 ® 2,3,8
16. o= Al 7Ids] g Aoz &2 A2
32243 x (m2)2 . (—2y2)3
276 3z 36
Vo P O
3z 3z
Y8 © %
17. 217} 100ma®y Q1 Y7159 @H2 25| 10a ¢!
golc}. o] U715 olg Fstolet




2 2 3,5 .« (_ 22 — _ 2
18. GaryQZ) « Y (_%) = az’y‘z oA a® — 22. 82%y° = (<2ay")*x__]= —16a® AN [___|<be]
3 3 27 gk AS Ay ofat,

bt Je o G Fatolt

; ; ; 23. —1622y3x| | =8xy? = —dazdy oA [ [t
19. (53321)2 + (—Zxay)Q X (—53332/’) = —62%y*d W, a+ dure A2

be] Qe Ffoier.

O —2zy? @ 2xy? @ —2z%y
@ 222y ® —2zy
20. ohg [ 9ol e A& Pttt
1 1
(38) - O < %= 2 Nl (P R ) B
) A o, [ ool ure 8 Fotolet
3 1
@ 3 @ —3 ® -3
1 3
@ 3 ® —3
21. v H7] T AR A 22 AL BE E QIR
K7
e 25. (a, b) * (c, d):%da'@'[m,
c
2\2 _ 4.5 4
O wx (-207)" = 4o (2m3y, —ﬂ>* —gny, —i>—§—7i%31 il
5 3 12
© (22)2 x (32)? = 122*
25 25 25
2
@ (—6.’L‘y3) % §$2y: _4$3y4 @ —E @ —E @ —?
30 30
@ —32%z x 4y = —36zy @ _? © _?
@ %nyz x gxyzz = 239223

® 174 @ 271 ® 37
@ 47 ® 570




